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PAPER-I : GENERAL STUDIES & GENERAL KNOWLEDGE
Total Marks : 200
Total Questions : 48
(75 Marks)
Marks : 10

Unit-1
Part- A

Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.

Ae: o IR | P e I 15-15 el F 3 | 9% W ¥ 2 7% Puiia ¥ |

1. Two female saints of Charandasi sect

Rt v <t < Afgen g

2. What is meant by ‘Hath Ka Kurab’ in Marwar state ?
TS T4 3 BT T O A T AR ?
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3.  Who drafted India’s First Five Year plan and on which growth model it was based upon ?

YR b1 SUH YgaNTd FISHT 1 U169 fhE 511 ue 98 ford foemma wiger w manfia oft 2

4.  Ahmadiyyah Movement

JrgHfeHn ATRIeH

5. Thermidorian Reaction

efeifea wfafsman




Unit—I/Part—B

‘ Marks : 25
Note : Answer all the following questions in 50 words each Each question carries 5 marks.

de: e aef w3 ST 50-50 w61 § © | s W % 5 37 Raifa )

. Comment on the ‘Samrat Yantra’ of Jantar Mantar, Jaipur
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7.  Chandawal incident, 1942 of Rajasthan’s Peasant Movement.

TSI o fhaM =<EIe | S gedT, 1942 |

8.  Explain the concept of ‘Panchratra’.
‘gtetr” it YR H W HIRT |
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9,

Examine the indigenous impact on Mughal architecture.

AT ATEGehetl YT Q¥IST WIS 1 qeor HIfv |

10. Throw light on the gradual development of the inventions leading to revolutionary

changes in the textile industry during the Industrial Revolution.

Jenfies swif=r # a@ e # iR ahads $0 T SRsHRl % ik S W TS
BiferT |
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Unit — I/Part - C Marks : 40

Note : Attempt all questions. Answer the following questions in 100 words each. Each question

carries 10 marks.

M it e F IS | e v S 3T 100-100 W) H 2 | YA T % 10 b P F |

11. Describe the revenue system of Mediaeval Rajasthan.

TN TS sh! TSTes ST 1 90 ShifoTg, |
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12,

Underline the similarities between the 6™ century B.C. religious movements and Nirgun
Bhakti movement of mediaeval India in terms of Varna system and prevalent evils.

Ui sEe e e Ffdl % foeg ot wared $an 0 % afife sl we Heee
W & TAjur with STeie o He gHHarstl o {@ifeha Hiftg |
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13.

Mahatma Gandhi was relevant to each generation in his three decades involvement in
Indian Freedom Struggle. Elucidate with proper examples.

mmmﬁmmmm%mmwmma@m
% | Ty Ieren afga fd=mn $ifdm |
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14.

Opium played a major role in the imperialistic exploitation of China. Elucidate.

<7 % HTSIET) e § Jrhiw <t weel yftvent W | fem Hifv |
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Unit - I1 (65 Marks)

Part- A Marks : 10

Note : Attempt all questions. Answer the following questions in 15 words each. Each question

carries 2 marks.

M |t el & IS | e vl 6 IR 15-15 g § ¥ | Ik We % 2 37 Pyt § |

15. What is the main objective of Namo Drone Didi Yojana of Rajasthan ?

TSTEYT 1 ) S Y ST 1 T SR TR 7

16. Which body in India releases ‘Export Preparedness Index Number’ ? What is its
purpose ? :

Ra # i a1 T “Frata Jar geesies’ ST a1 2 7 3R SRE R ?
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17. What is the purpose of introducing ‘Urea Gold’ in India ?
YR # 56T 3w & ‘i Mies’ i TRT TR ?

18. What is the importance of Acknowledgement Certificate for MSMEs, issued by the nodal
agency in Rajasthan under MSME Act, 2019 ?

T § THEEEEE (MSME) AAfufaad, 2019 % d&d Aiedl Goid gR1 THUHTHE (MSME) i
ST FpT ST ST qTadt SHTO-95 S T IR § 7

19. Write the name of top four districts of Rajasthan in descending order with respect to Per
Capita Income (PCI) at current prices.

T # yafera St W i safts 3R (PCI) % w8 s = fret & = wed gusen &
ot |
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21. What do you mean by TReDs in MSME in India ?
YA # THeEEHs (MSME) % d&d ¢§8 (TReDs) # 3179 FI1 §93Hd & ?
22.  Why was social sector Viability Gap Funding Scheme introduced in Rajasthan ?

T B g &3 6t sFaariar 3 faayy (arfafad g i) demr w=if o 0 ¢
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23,

What are the aims of National Green Hydrogen Mission of India ?

W 5 T B Eregioe e & F Igeva € 7

24. 'What are the objectives of establishment of Atal Tinkering Laboratories in India ?

R § 7ee il Aaide i e S [ R R ?
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Unit— 11/ Part—-C Marks : 30

Note : Answer all the following questions in 100 words each. Each question carries 10 marks.

Me: e aeft vl H I 100-100 T H F | TS T H 10 3 Fuifa € |

25. What is the government’s futuristic roadmap for the development of nuclear energy
sector as announced in the Union Budget 2025-26 ?

R 1 AT S 85 F fem & R1e S suie 2025-26 § Oifa wirsramd) UsAg
w2 ?
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26. What specific measures are announced in the Union Budget 2025-26 to boost MSMEs in
India ?

R & wieEens (MSME) Y 9181 33 % fore i sieie 2025-26 # i faf¥re sarr =it
frrme g ?
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27. Write a short note on Rajasthan Refinery Project.

T RwTE Mistee W O |t feoqoft feafau |
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Unit — III (Section — A) (20 Marks)

Part—- A Marks : 10

Note: Attempt all questions. Answer the following questions in 15 words each. Each question

carries 2 marks.

e ol ueE ¥ IS | P wEl S ST 15-15 Y 1 & | Wekeh W9 % 2 37 feifa B |

28. What is ‘Secularization of Caste’ ?

Sifer <t et R ?

29. What is ‘Separatist Communalism’ ?

‘ FTIEETE WISl T TR ?
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30. What do you mean by ‘Socio-Cultural Ageing’ ?
BT~ HTeap e Jgrerear’ & 19 31 aref o & 2

31.  What is the reinforcement theory of drug abuse ?

Fefteft g3t < GEIART T ot g w1 & 7

32. What do you understand by ‘Globalisation of Ethnicity’ ?
STt % Svefiehtur’ & 3119 F1 GHEd § ?
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Unit —I1II (Section — A)
Part-B .
Note : Answer all the following questions in 50 words each. Each question carries 5 marks.

Sre: Pt weE IR 50-50 I3 6 | e e % 5 37 Fuifa € |

33. In present context, mention role of Caste in Indian Politics.

e et 3 et TR 3 e <6 st e |

Marks : 10

34. Mention various initiatives for tribal welfare taken by the Government of India regarding
empowering tribal communities.

ST G H1 G R % daY § W SR GRS Feam % fie H
= el o1 IeoE HH |
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Unit — III (Section — B) (20 Marks)

Part- A Maljks + 10

Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.

AMe: AR FH IR E | = e F I 1515 v A S | v e F 2 3 Pufta

35.  Explain the concept of ‘Captive-Product Pricing’. Give two examples.

‘SR -3eare qea- Pyt $i sreuron = gagmsy | § s af |

36. 'What do you understand by the concept of ‘Social Loafing’ ?

“HrHTRSe JTETT (Social Loafing) <Y STEERoN & 3119 47 §HA & 7
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37. What do you mean by ‘Hot Money’ ?
TEREH 5T’ (Hot Money) & 3TT9ehT &1 ATcTd @ ?

38. What is the full form of ‘AYUSH’ ?
‘AYUSH’ (371q9) &1 qui €9 18 ?

39. Define ‘Seed Funding’.
‘GRIS HE9A’ (Seed Funding) %t aitiira SR |
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Unit - III (Section — B)

Paper-I

Part-B Marks : 10

Answer all the following questions in 50 words each. Each question carries 5 marks.

Tt aft st & 3o 50-50 T F 3 |y e 5 acimﬁwfﬁa% |

Note :

List and explain in brief four Conflict-Stimulation Techniques.

40,
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41. What do you mean by Financial Derivatives i i i
Derivatives. ;
ferefta sgea=it (Derivatives) & 3maeht #1 i ® ¢ forcfla sgea=t & fafi woemdd <t =t
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Paper-1

(T e

Unit — III (Section — C) (20 Marks)

Part— A Marks : 10

Note : Attempt all questions. Answer the following questions in 15 words each. Each question

carries 2 marks.

Me:  woft el I | e v IR 15-15 e 1 ¥ | vk v ¥ 2 o7 Ruifa

42. Write any two objectives of Government Audit.

HTHRT eI o his of Ievd Ty |

43. Mention three basic elements of performance audit with reference to public sector.

greieries & o wel # frsaf siheror & fi e o sarsd |
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44. What are the different stages of accounting as per Double Entry System of Accounting ?
i 1 Qe wRf yoeht % SER, dEi S Rt T S A ?

45. Calculate Capital of the business from the following information :
(i) Fixed Assets : ¥ 4,00,000
(i1) Current Liabilities : ¥ 85,000
(iii) Stock, Sundry Debtors and Cash : ¥ 90,000
gamaﬁ Y g it goit < ToET hHife
(i) Tt EaRmET : T 4,00,000

(ii) TSGR : T 85,000
(iii) =h=, Tafey TeR w& TS : T 90,000

46. Give any four approaches of Social Accounting.

TR @I o his IR ¥R (ITFT) T |

e —— e et e i 25




i

il »

Unit — I1I (Section — (8)}

Part-B Marks : 10
Note : Answer all the following questions in 50 words each. Each question carries 5 marks.
e : ﬁnmwﬁ%mso-somﬁﬁélmméasmﬁwmaél
47.  The following information has been taken from the books of ABC Ltd. :

v
Cash and Bank Balance 30,000
Trade Payables 45,000
Trade Receivables 75,000
Inventory 30,000
Sales (All credit) 4,50,000
Cost of Goods Sold 3,15,000

Calculate : (i) Current Ratio; (ii) Quick Ratio; (iii) Receivables Turnover Ratio;
(iv) Inventory Turnover Ratio; (v) Gross Profit Ratio

Feiferfes gamd whielt (ABC) for. i g @ o mé 8
2

e 9 9% Y 30,000
TR aT 45,000
ST T 75,000
Tfoan 30,000
Tosra (v 3umw) 4,50,000
¥ T HT Y A 3,15,000

T M : (i) e, Te; (i) R ST (i) W1 37 FAIE; (iv) AT aTad
STFUTA; (v) Hhed AT 9T ;
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48. s the agreement of trial balance a conclusive proof of accuracy of books of accounts ? If
not, which different types of errors may remain even after agreement of trial balance ?

T qeT9E 1 eI SET TR S JGa T 3h1ed T § ¢ Af T, t qerve & e
vvar ft BH- @ srgfea wEwdt E ¢

SPACE FOR ROUGH WORK







